petaal T O AEER R 1»HH 2nHE 3nHE 4»HB 5»HE 6:#HE
SSF (K) ARARD A 8,800 290,040 281,240 272,440 263,640 254,840 246,040
SSF(R)Z7)Na—2A 13,200 405,892 392,692 379,492 366,292 353,092 339,892
SSF (H) ARRD A 8,800 287,840 279,040 270,240 261,440 252,640 243,840
SSF(H#) 7)Va—2A 13,200 403,692 390,492 377,292 364,092 350,892 337,692
petaal T D AEER AR T#nRHHE 8#HH 9% RHH 104HE 11xHE 125HE
SSF (K) ARARD A 8,800 237,240 228,440 219,640 210,840 202,040 193,240
SSF(R)7)Na—2A 13,200 326,692 313,492 300,292 287,092 273,892 260,692
SSF (H) ARIRD A 8,800 235,040 226,240 217,440 208,640 199,840 191,040
SSF (/) 7)Va—=2 13,200 324,492 311,292 298,092 284,892 271,692 258,492
petaal T D AZERAER | 13%HB 14%»HEH 15»HH 16»HE 17»HE 18»HE
SSF (K) ARARD A 8,800 184,440 175,640 166,840 158,040 149,240 140,440
SSF(R)7)Na—2A 13,200 247,492 234,292 221,092 207,892 194,692 181,492
SSF (H) ARRD A 8,800 182,240 173,440 164,640 155,840 147,040 138,240
SSF (&) 7)Va—2A 13,200 245,292 232,092 218,892 205,692 192,492 179,292
peaal T O AEERAR | 19%8H 20#HH 21xHE 2278 237HH 247 HH
SSF (KX) RIRD A 8,800 131,640 122,840 114,040 105,240 96,440 87,640
SSF(R)7)Na—2A 13,200 168,292 155,092 141,892 128,692 115,492 102,292
SSF (H) ARRD A 8,800 129,440 120,640 111,840 103,040 94,240 85,440
SSF (&) 7)Va—2A 13,200 166,092 152,892 139,692 126,492 113,292 100,092
petaal T O AR AR | 2542AH 26 HE 27»HE 28»HE 29%HH 30xHE
SSF (K) ARARD A 8,800 78,840 70,040 61,240 52,440 43,640 34,840
SSF(R)7)NVa—2A 13,200 89,092 75,892 62,692 49,492 36,292 23,092
SSF (H) ARRD A 8,800 76,640 67,840 59,040 50,240 41,440 32,640
SSF (&) 7)Va—2A 13,200 86,892 73,692 60,492 47,292 34,092 20,892
pelaal T O AEERAER | 31xAH 32#HH 33#7HH 34#HH 35#HH 36#7HHE
SSF (K) ARARD A 8,800 26,040 17,240 8,440 —
SSF(R)7)Na—2A 13,200 9,892 —
SSF (H) ARRD A 8,800 23,840 15,040 6,240 —
SSF (&) 7)Va—2A 13,200 7,692 —




